ooty guod
0170 200000000 (6)

20110 110 280

U ooooblocbobobOooboooooboobOobobobobooboobobooboobOoboobOoboOoooonog
obooobOobooooboooog

00 | 00 (& 00(%) Ti— T Yi— ¥ (i —2)” | (i—9)? | (@—2)(yi—y)
1 160 165
2 179 181
3 166 171
4 173 173
) 156 163
6 164 169
7 176 174
8 185 179
9 170 172
10 171 173
g

l. 0000o0O0obOoo0ooobooocoooboooooboon

2. 000000000 b00ob0bo0obobo0obo0obo0bDg z,y0OoDOO

3. 0000000b00On

4. 0000000000000D0000000 (y)=a+b00000 (x) 000000000000 200
oooobooooooobooon

y= + v

oooobooooboobooooobooboooogn

5. 0000 R?00000



190

180

170

160

150

150

160

170

180

190



